THMBRRETSY

1. S EREHMEFER IO T

IS — b (S EREHE DK 5E)

& B 1

BHAL . %

N B =T * — _
HR%HWJE\?& n;ﬁﬁﬁzﬁi (a) :‘éf%(b) (b)/(a) g*ﬁg;j- (C) (c)/ (a) 1% %
FSUIZENT, FR23ERE
158 137 105 17% 32 23Y% |E#ETEAR S L=21 BRI
DUNTIE S R E- T 5 41
S Z . ZFENDOIKR
BHA: . %
T i 4R IR i . _ -
FT M55k (a) 4 (b) ERREHd)

ZERXRH (b)/(a) dbarvrE(c) (c)/(a) (d)/ (a)
FE 1 36 33 92% 28 78% 3 8%
£EB2 33 26 79% 0 0% 7 21%
£ B3 35 34 97% 2 6% 1 3%
£E4 33 28 85% 16 48% 5 15%
£EBS5 29 22 76% 9 31% 7 24%
£ EG6 36 28 78% 15 42% 8 22%
£B87 36 31 86% 6 17% 5 14%
B8 36 31 86% 18 50% 5 14%

=t 274 233 85% 94 34% 41 15%

KBEBRICEITHEHEIE. 14HDOEMEICOE22DZANFTML TS5, M. SEREHEE RIS OV TINORIEE—BLELY,




